2d[0]]*1079+0.5*DBB.I1a_L[0] - BB.tp.e.hit_tof[0]

ad[0]]*10*9+0.5*DBB.I1a_L[0] - BB.tp.e.hit_tof[0]

150
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130
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120
115
110
105
100

BBL_ct_center_vs_trx

BBL ct center vs trx

1 Entries

. 1 RMS x

24738
Mean x 0.8422+ 0.003639

Mean y 121.8+ 0.0476
0.4715 + 0.002573
RMSy 6.166 + 0.03366

Integral 1.678e+04

1.6 1.8 2
BB.tp.trx[0]

BBL ct center vs bar

1 Entries

1 Mean x

24738
9.21+ 0.04234
Meany 121.9+ 0.04767

{ RMS x  5.499 + 0.02994
1 RMSy  6.191+ 0.03371
Integral 1.686e+04

18 20 22 24
BB.tp.e.hit_bar[0]




